## ANNALES UNIVERSITATIS MARIAE CURIE-SKŁODOWSKA LUBLIN – POLONIA

VOL. LIX, 2005	SECTIO A	119-128

## DOMINIK SZAŁKOWSKI

## Isoptics of open rosettes

ABSTRACT. In this paper we introduce the notion of an open rosette and its isoptics and prove some theorems such as the sine theorem and its inverse in this framework.

**Definition 1.** A plane open curve C with positive curvature is said to be an open rosette.

Let  $C: z = z(t), t \in \mathbb{R}$  be an open rosette and choose a coordinate system with point O as its center. We choose such  $t_0 \in \mathbb{R}$  that tangent line to Cin  $z(t_0)$  is perpendicular to Ox-axis. If there are many such points we can choose any of them. Next, at a point z(t) we define vector  $e^{it} = \cos t + i \sin t$ (as in Figure 1) where t is oriented angle between the positive direction of Ox-axis and  $e^{it}$ . Now we are going to define an oriented support function p(t) of curve C. If  $e^{it}$  points to a half plane which doesn't contain the origin of the coordinate system we define p(t) as ordinary distance between O and tangent line at z(t). If not we define p(t) as minus ordinary distance.

<sup>2000</sup> Mathematics Subject Classification. 53A04.

Key words and phrases. Open rosette, convex, isoptic, sine theorem, parametrization.



FIGURE 1. A support function of an open rosette.

**Theorem 1.** Let C be an open rosette. Then the rosette C can be parametrized by

$$z(t) = p(t)e^{it} + p'(t)ie^{it}$$

where  $t \in (a, b)$ ,  $a, b \in \mathbb{R}$ , and p(t) is its support function.

Proof of this fact is well known and can be found in [7].

**Remark 1.** Curvature of an open rosette parametrized by the support function is given by

$$k(t) = \frac{1}{p(t) + p''(t)}, \quad t \in (a, b)$$

Since we assume that rosette has positive curvature, the function p(t) is at least of class  $C^2$ .

**Example 1.** Consider curve with the following support function

$$p(t) = \frac{1}{\sin t}$$
 for  $t \in (0, \pi)$ 

Then

$$p''(t) = \frac{\sin^2 t + 2\sin t \cos^2 t}{\sin^4 t}$$

k(t) > 0 for  $t \in (0, \pi)$  so it is an open rosette.



FIGURE 2. Example 1.

Example 2. Consider another function

 $p(t) = t^2 \quad \text{for } t \in \mathbb{R}.$ 

Then

$$p''(t) = 2$$

and we get an open rosette.



FIGURE 3. Example 2.

**Remark 2.** In the further part of this paper we consider only open rosettes for which  $t \in \mathbb{R}$ .

Let C be on open rosette with a support function p(t),  $t \in \mathbb{R}$ . We fix a point  $z(t_0)$  and denote the tangent line to C at  $z(t_0)$  by  $l_0$ . Next, we choose

 $t_1$ ,  $t_0 < t_1$  closest to  $t_0$  in the sense of parametrization and we denote the tangent line at this point by  $l_1$ . We choose  $t_1$  in such a way that an angle between tangents  $l_0$  and  $l_1$  equals  $\pi - \alpha$  (see Figure 4).



FIGURE 4.  $\alpha$ -isoptic of open rosette.

**Definition 2.** The cut locus of common points of the tangents  $l_0$  and  $l_1$  forms  $\alpha$ -isoptic of the 1-st order of an open rosette. We denote it by  $C_{1,\alpha}$ .

**Remark 3.** In the same manner as in [5] and [1] we show that

$$t_1 = t_0 + \alpha$$

and

$$z_{\alpha,1}(t) = p(t)e^{it} + \left(-p(t)\cot\alpha + \frac{p(t+\alpha)}{\sin\alpha}\right)ie^{it}.$$

We define the following points

$$t_{2} = t_{1} + 2\pi = t_{0} + \alpha + 2\pi$$
  

$$t_{3} = t_{2} + 2\pi = t_{0} + \alpha + 4\pi$$
  
....  

$$t_{k} = t_{k-1} + 2\pi = t_{0} + \alpha + 2(k-1)\pi$$
  
....

We denote by  $l_1, l_2, \ldots, l_k, \ldots$  (see Figure 5) tangent lines to C at these points.

**Definition 3.** The cut locus of common points of the tangents  $l_0$  and  $l_k$  forms  $\alpha$ -isoptic of k-th order of an open rosette. We denote this curve by  $C_{k,\alpha}$  and call it  $k, \alpha$ -isoptic.



FIGURE 5.  $k, \alpha$ -isoptics of an open rosette.

**Remark 4.** Let C be an open rosette. Since  $t \in \mathbb{R}$  then  $t_k = t_0 + \alpha + 2(k - 1)\pi \in \mathbb{R}$ , so there exists  $k, \alpha$ -isoptic for any k.



FIGURE 6. Parametrization of an  $k,\alpha\text{-isoptic.}$ 

**Theorem 2** (Parametrization of  $k, \alpha$ -isoptic). For  $\alpha$ -isoptic of k-th order of an open rosette we have the following equation

$$z_{\alpha,k}(t) = p(t)e^{it} + \left(-p(t)\cot\alpha + \frac{p(t+2(k-1)\pi+\alpha)}{\sin\alpha}\right)ie^{it}$$

for  $t \in \mathbb{R}, k \in \mathbb{N}$ .

**Proof.** For u = a + bi, w = c + di we denote [u, w] = ad - bc. Then we have

$$q(t) = z(t) - z(t_k)$$
  
=  $p(t) \cos t - p'(t) \sin t - p(t + 2(k - 1)\pi + \alpha) \cos(t + \alpha)$   
+  $p'(t + 2(k - 1)\pi + \alpha) \sin(t + \alpha)$   
+  $(p(t) \sin t + p'(t) \cos t - p(t + 2(k - 1)\pi + \alpha) \sin(t + \alpha))$   
 $-p'(t + 2(k - 1)\pi + \alpha) \cos(t + \alpha)) i,$ 

$$b(t) = [q(t), e^{it}] = p(t+2(k-1)\pi+\alpha)\sin\alpha + p'(t+2(k-1)\pi+\alpha)\cos\alpha - p'(t),$$
  

$$B(t) = [q(t), ie^{it}] = p(t) - p(t+2(k-1)\pi+\alpha)\cos\alpha + p'(t+2(k-1)\pi+\alpha)\sin\alpha.$$
  
We can write a parametrization of a  $k, \alpha$ -isoptic as

$$z_{\alpha,k}(t) = z(t) + \lambda(t)ie^{it}$$

or

$$z_{\alpha,k}(t) = z(t+2(k-1)\pi + \alpha) + \mu(t)ie^{i(t+2(k-1)\pi + \alpha)},$$

where  $\lambda(t)$  and  $\mu(t)$  are functions of the appropriate class. Thus, we have

$$z(t) + \lambda(t)ie^{it} = z(t + 2(k - 1)\pi + \alpha) + \mu(t)ie^{i(t + 2(k - 1)\pi + \alpha)}$$

and hence

$$z(t) - z(t + 2(k - 1)\pi + \alpha) = \mu(t)ie^{i(t + 2(k - 1)\pi + \alpha)} - \lambda(t)ie^{it}.$$

Multiplying the above equations by  $e^{it}$  and  $ie^{it}$  we obtain

$$[z(t) - z(t + 2(k - 1)\pi + \alpha), e^{it}] = [\mu(t)ie^{i(t + 2(k - 1)\pi + \alpha)} - \lambda(t)ie^{it}, e^{it}]$$
$$[z(t) - z(t + 2(k - 1)\pi + \alpha), ie^{it}] = [\mu(t)ie^{i(t + 2(k - 1)\pi + \alpha)} - \lambda(t)ie^{it}, ie^{it}]$$

Making use of the fact that left-hand sides are equal b(t) and B(t) we obtain

$$\lambda(t) - \mu(t) \cos \alpha = b(t)$$
$$-\mu(t) \sin \alpha = B(t)$$

which gives

$$\lambda(t) = b(t) - B(t) \cot \alpha$$
$$\mu(t) = \frac{-B(t)}{\sin \alpha}.$$

Combining this we obtain

$$z_{\alpha,k}(t) = z(t) + \lambda(t)ie^{i(t)}$$
  
=  $p(t)e^{it} + \left(-p(t)\cot\alpha + \frac{p(t+2(k-1)\pi+\alpha)}{\sin\alpha}\right)ie^{it}.$ 

**Example 3.** Let us consider the following function

$$p(t) = t^2 \quad \text{for } t \in \mathbb{R}.$$

We have the following parametrization of its  $k, \alpha$ -isoptics

$$z_{\alpha,k}(t) = t^2 e^{it} + \left(-t^2 \cot \alpha + \frac{(t+2(k-1)\pi + \alpha)^2}{\sin \alpha}\right) i e^{it} \quad \text{for } t \in \mathbb{R}.$$



FIGURE 7. Sine theorem.

**Theorem 3** (Sine theorem). Under the notations of Figure 7 for an open rosette C and its  $\alpha$ -isoptic of k-th order the following equalities hold

$$\frac{|q(t)|}{\sin\alpha} = \frac{\lambda(t)}{\sin\xi} = \frac{\mu(t)}{\sin\eta}.$$

**Proof.** We have

$$b'(t) = R(t + 2(k - 1)\pi + \alpha)\cos\alpha - R(t) + B(t),$$
  
$$B'(t) = R(t + 2(k - 1)\pi + \alpha)\sin\alpha - b(t),$$

where R(t) = p(t) + p''(t) is the curvature radius of curve C. Next, we obtain

$$z'_{\alpha}(t) = \varrho(t)ie^{it} - \lambda(t)e^{it},$$

where

$$\varrho(t) = B(t) + b(t) \cot \alpha.$$

It is obvious that

$$\frac{1}{2}\left[ie^{it}, z'_{\alpha}(t)\right] = \frac{1}{2}\left|ie^{it}\right| \left|z'_{\alpha}(t)\right| \sin\xi$$

 $\mathbf{SO}$ 

$$\frac{\left[ie^{it}, z'_{\alpha}(t)\right]}{\sin \xi} = \left|z'_{\alpha}(t)\right|$$

We have

and

$$z_{\alpha}'(t)\big| = \frac{\sqrt{b^2(t) + B^2(t)}}{\sin\alpha}$$

 $\left[ie^{it}, z'_{\alpha}(t)\right] = \lambda(t)$ 

It is a simple matter to check that

$$|q(t)| = \frac{\sqrt{b^2(t) + B^2(t)}}{\sin \alpha}$$

 $\mathbf{SO}$ 

$$z'_{\alpha}(t) = \frac{|q(t)|}{\sin \alpha}$$

thus

$$\frac{|q(t)|}{\sin\alpha} = \frac{\lambda(t)}{\sin\xi}$$

In the same manner we can see that

$$\frac{1}{2} \left[ i e^{i(t+2(k-1)\pi+\alpha)}, z'_{\alpha}(t) \right] = \frac{1}{2} \left| i e^{i(t+2(k-1)\pi+\alpha)} \right| \left| z'_{\alpha}(t) \right| \sin \eta$$

 $\mathbf{so}$ 

$$\frac{\left[ie^{i(t+2(k-1)\pi+\alpha)}, z'_{\alpha}(t)\right]}{\sin \eta} = \left|z'_{\alpha}(t)\right|.$$

Hence

$$\left[ie^{i(t+2(k-1)\pi+\alpha)}, z'_{\alpha}(t)\right] = \mu(t)$$

and we obtain

$$\frac{\mu(t)}{\sin\eta} = \frac{|q(t)|}{\sin\alpha}.$$

Summarizing we have

$$\frac{|q(t)|}{\sin\alpha} = \frac{\lambda(t)}{\sin\xi} = \frac{\mu(t)}{\sin\eta}.$$

We now consider the inverse problem. We will prove the following:

**Theorem 4.** Let  $C: z(t) = p(t)e^{it} + p'(t)ie^{it}$  be a given open rosette and  $\gamma$  be an open curve. Assume that there exists differentiable function  $\phi : \mathbb{R} \to \mathbb{R}$  such that, the tangent lines to C at z(t) and  $z(\phi(t))$  intersect for each t at some point of  $\gamma$ . We assume that at these points the sine formula holds. Then  $\gamma$  is an isoptic of C for some k and  $\alpha$ .

**Proof.** The function  $\phi(t)$  defines the function  $\alpha(t)$ ,  $0 < \alpha(t) < \pi$ , which represents the oriented angle between the tangent lines to C at z(t) and  $z(\phi(t))$ . It is easily seen that  $\phi(t) = t + 2(k-1)\pi + \alpha(t)$  for some uniquely determined integer k.

Analogously to the proof of Theorem 2 we obtain parametrization of curve  $\gamma$ :

$$z_{\gamma}(t) = p(t)e^{it} + \left(-p(t)\cot\alpha(t) + \frac{1}{\sin\alpha(t)}p(t+2(k-1)\pi + \alpha(t))\right)ie^{it}$$

and values of

$$\lambda_{\gamma}(t) = -p(t) \cot \alpha(t) - p'(t) + \frac{p(t + 2(k - 1)\pi + \alpha(t))}{\sin \alpha(t)}$$
$$\mu_{\gamma}(t) = p(t + 2(k - 1)\pi + \alpha(t)) \cot \alpha(t) - \frac{p(t)}{\sin \alpha(t)} - p'(t + 2(k - 1)\pi + \alpha(t)).$$

Under the assumptions of theorem we have

$$\frac{\lambda_{\gamma}(t)}{\sin\xi} = \frac{\mu_{\gamma}(t)}{\sin\eta}.$$

The above condition is equivalent to

$$\frac{\lambda_{\gamma}(t)}{\left[ie^{it}, z_{\gamma}'(t)\right]} = \frac{\mu_{\gamma}(t)}{\left[ie^{i(t+2(k-1)\pi + \alpha(t))}, z_{\gamma}'(t)\right]}.$$

From this formula it follows that

$$\left[ie^{it}, z'_{\gamma}(t)\right] = \lambda_{\gamma}(t)$$

and

$$\left[ie^{i(t+2(k-1)\pi+\alpha(t))}, z'_{\gamma}(t)\right] = \mu_{\gamma}(t)(1+\alpha'(t)).$$

Thus we obtain

$$\frac{\lambda_{\gamma}(t)}{\lambda_{\gamma}(t)} = \frac{\mu_{\gamma}(t)}{\mu_{\gamma}(t)(1+\alpha'(t))}$$

 $\mathbf{SO}$ 

$$\alpha'(t) = 0$$

which means that  $\alpha(t) = \text{const.}$ 

## References

- Cieślak W., A. Miernowski and W. Mozgawa, *Isoptics of closed strictly convex curve*, Global Differential Geometry and Global Analysis (Berlin, 1990), Springer-Verlag, Berlin, 1991, pp. 28–35.
- [2] Cieślak W., A. Miernowski and W. Mozgawa, Isoptics of closed strictly convex curve II, Rend. Sem. Mat. Univ. Padova 96 (1996), 37–49.
- [3] Góźdź S., Theory of f-semigroups and Periodic Elements, Redakcja Wydawnictw Katolickiego Uniwersytetu Lubelskiego, Lublin, 1999 (Polish).
- [4] Góźdź S., A. Miernowski and W. Mozgawa, Sine theorem for rosettes, An. Ştiinţ. Univ. Al. I. Cuza Iaşi. Mat. (N.S.) 44 (2) (1998), 385–394.
- [5] Miernowski A., W. Mozgawa, Isoptics of rosettes and rosettes of constant width, Note Mat. 15 (2) (1995), 203–213.
- [6] Miernowski A., W. Mozgawa, Isoptics of open, convex curves and Crofton-type formulas, İstanbul Üniv. Fen Fak. Mat. Derg. 57/58 (1998/1999), 33–39.
- [7] Rabinowitz, S., A polynomial curve of constant width, Missouri J. Math. Sci. 9 (1997), 23–27.

Dominik Szałkowski

Institute of Mathematics

Maria Curie-Skłodowska University

pl. M. Curie-Skłodowskiej 1

20-031 Lublin, Poland

e-mail: dominik.szalkowski@umcs.lublin.pl  $% \mathcal{A} = \mathcal{A}$ 

Received January 3, 2005